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Unit-1

1. What is a lone pair of electrons. Draw an electron dot diagram of a hydronium

ion (with lone pair). 1 l S
2. State each as oxidation%rel!!.cti ‘;‘Il

harged particles whic ne anothéﬁ) gsm electrovalent
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electrons coming from the same atom.
15. Ammonium chloride has all the three electronic bonds

16. Give a reason why covalent compounds exist as gases, liquids or soft solids?
17. Give scientific reasons: Carbon tetrachloride does not conduct electricity.

18. Explain the bonding in methane molecule using electron dot structure.




Unit-2
. System and Surroundings,
. Types of system (open, closed, isolated),
. State variables/functions,

. Thermodynamic processes (isothermal, adiabatic, isobaric, isochoric),

. Sign conventions, % ‘#L q l S ‘}-

. Extensive and Intensive properties,

. Enthalpy a
. Gibbs free

© o N ;> U A W N =

11. Standard
12. Enthalpy
13. Properties

14, Hess's la




Unit-3
1) Suppose you had a buffer containing 0.5 moles of sodium dihydrogen phosphate
and 0.5 moles of sodium hydrogen phosphate. How many moles of hydrochloric
acid would this phosphate buffer be able to a...
2) Explain what is bufferi caﬁcity l S
3) 100 mL of 0.20 M acetiSid and 100 mL of 0.20 JS
of solid NaOH.4 i is the pH?

cetate are mixed,

oic (apéﬁc) acid is 4.76

jum acetate are mixed. If

4) If 100

12) Which of the following solutions is most resistant to a change in pH when a small
amount of an acid or a

13) What quantity of NaOH should be dissolved in 15000 ml of water to obtain 4%
concentration?

14) Given the following information: HF(g) arrow H+(aq) + F-(aq); Kc = 6.8 x 10-4 (at
25 degrees Celsius) H2C204(aq) arrow 2H+(aq) + C2042-(aq); Kc = 3.8 x 10-6 (at

25 degrees Celsius) Determine the va...




15) List the solutions from highest pH to lowest pH. a. 1.0 mol/L. HNO3(aq) b. 1.0
mol/L K2S503(aq) ¢. 1.0 mol/LL HF(aq) d. 1.0 mol/LL LiOH(aq)

16) List the bases from highest pH to lowest pH. a. 1.0 mol/LL LiNO2(aq) b. 1.0 mol/L
KOCl(aq) c. 1.0 mol/LL NaF(aq) d. 1.0 mol/L KOH(aq)

17) Hydrazine, N2H4(aq), is used in the preparation of polymers, pharmaceuticals,
and rocket fuel. It has alkaline properties similar to ammonia and will act as a

weak base. Given that a 100-mL sample...

18) What is the pH of 0.025 M (CHS) (a (CH3)3N Kb =6.5x10-5. A. 12.40
B.9.81C.11.11D. 8.2 .1 1 !
19) A buffer solution contains 0.200 M acetic acid an

s?odium acetate. What
ffer? (pKa = 4.75 for

d ase whose

of thi

mne

13) Factors affecting Adsorption.
14) What Is Reverse Osmosis?
15) How many type of adsorbent are used?
16) What is solvent?

17) Define Concentration Gradient.




